Priklad na generovanie asovych intervalov (%NextTime, %

SubTime)

TI ME _CasQOdLoc
TI ME _CasDolLoc

IF _Interval = 1 THEN ; Aktual na snena
_CasOdLoc : = %BubTi me(%Next Ti me(3600*8, 3600*6, 0), 8*3600)
_CasDoLoc : = %\ext Ti me(3600*8, 3600*6, 0)

ELSIF _Interval =2 THEN ; Mnul & snena

I F Hour >= 6 & Hour < 14 THEN ; Ranna snena
_CasQdLoc : = 9%\ext Ti me(24*3600, -(2+24)*3600, 0)
_CasDoLoc : = 9%\ext Ti me(24*3600, -18*3600, O0)

ELSI F Hour >= 14 & Hour < 22 THEN ; Popol udnaj i a snena
_CasQdLoc : = 9%\ext Ti me(24*3600, -18*3600, O0)
_CasDoLoc : = 9%\ext Ti me(24*3600, -10*3600, O0)

ELSI F Hour >= 22 | Hour < 6 THEN :Nona snena
_CasQdLoc : = 9%\ext Ti me(24*3600, -10*3600, O0)
_CasDoLoc : = 9%\ext Ti me(24*3600, -2*3600, 0)

ENDI F

ELSIF _Interval = 3 THEN ;
| F Hour < 6 THEN

Dnes

_CasOdLoc : = 9%\ext Ti me(3600*24,
_CasDoLoc : = 9%\ext Ti me(3600*24,
ELSE
_CasCdLoc : = 9%\ext Ti me(3600*24,
_CasDoLoc : = %\ext Ti ne(3600*24,
ENDI F
ELSIF _Interval = 4 THEN ; Vera
| F Hour < 6 THEN
_CasQdLoc : = 9%\ext Ti me(3600*24,
_CasDoLoc : = %N\ext Ti ne(3600*24,
ELSE
_CasQOdLoc : = %\ext Ti ne(3600*24,
_CasDoLoc : = %N\ext Ti me(3600*24,
ENDI F

ELSIF _Interval =5 THEN ;
_CasQOdLoc

_CasDolLoc :

YNext Ti me(3600* 24,

ELSI F _Interval
_CasQdLoc :
_CasDolLoc :

=6 THEN ; Mnuly
9Next Ti me(3600* 24,
9Next Ti me(3600* 24,

ELSIF _Interval =7 THEN ;

_sTine = % meToStr (SysTi ne,
_eTinme = odi neToStr ( SysTi ne,
_CasQdLoc := %strToTi me(_sTinme)
_CasDolLoc := %8t rToTi me(_eTi me)

ELSIF _Interval = 8 THEN ; Mnuly

_sTinme = odi meToStr ( SysTi ne,

_eTinme = @i neToStr ( SysTi e,

_CasOdLoc := uStrToTi me(_sTinme)

_CasDoLoc : = ¥8trToTi ne(_eTi me)
ENDI F

@ Suvisiace stranky:

Implementované funkcie

-3600*24*2+3600*6, 0)
- 3600*24+3600*6, 0)

- 3600*24+3600*6, 0)
3600*6, 0)

- 3600* 24* 3+3600* 6,
- 3600* 24* 2+3600* 6,

0)
0)

- 3600* 24* 2+3600* 6,
- 3600*24+3600*6, 0)

0)

Tento tyzde
9%N\ext Ti ne(3600* 24, -
(7- WeekDay) * 24* 3600+6* 3600, 0)

WeekDay* 24* 3600+6* 3600, 0)

tyzden

(- VeekDay- 7) * 24* 3600+6* 3600, 0)
(- WeekDay- 1) * 24* 3600+6* 3600, 0)

Tento nesi ac

"06:00: 00 O1-mmrrrr")
"06:00:00 01-"+ %9 ToStr(Month + 1) +"-rrrr")

mesi ac
"06: 00: 00 01-"+ % ToStr(Mnth -
"06:00:00 O1-mmrrrr™)

1) +"-rrrr")
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